Manatee Math e

Summer Program

I Once the packet is complete,

turn it in for a prize once

cCchool resumes!
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3 What strategies did you use to solve the problems? Explain.

© 2020 Curtheulums Associates, LLC, Al rights reserved, I

Mandtee Summer Math
incoming Sixth Grade Week 1



Name:
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5 Write two different decimals that are the same value when rounded to the nearest tenth.
Explain why the rounded values are the same.

Round 1.299 to the nearest tenth and to the nearest hundredth. Explain why the rounded
values are equivalent.
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The answers are mixed up at the bottom of the page. Cross out the answers

as you complete the problems. -
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X 30

1,085
X 17

2,105

i 648
X 32

Answers
20,736
18,972

22,750
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55,407

Name:

B 1,025
X 18

ey 2,500
X 19

5 306
X 62

g 962
X 44

47500
67980

42,328

Show your work on a separate piece
of paper, attach the work.

55,872
56,316

58,008
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Name:

Kyle wants to buy a hat for $5.75, a T-shirt for $7.65, and a keychain for $3.15. He has $16. Does

he have enough money? Use estimation only to decide. Explain why you are confident in your
estimate.

&R

i For his hiking club, Ricardo is making a container of trail mixwith 3.5 kilograms of nuts. He has
1.78 kilograms of peanuts and 0.625 kilograims of almonds. The rest of the nuts will be cashews.

How many kilograms of cashews does he need? Use estimation to check your answer for
reasonableness.

] Suppose you want to be sure that the total cost of three items does not go over a certain
amount. How can you use estimation only o solve the problem?
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Name:

0.5 X 0.03

0.06 X 0.2

108%03

i3 0.8X0.2

7 04 X 012

k3 0.6 X0.8

i) 0.05X05

3 025%05

Show your work on d separdte piece
of paper, attach the work.
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- Name:

Solve the pmbﬁems,

Lori needs at least 12 liters of water to fill a water cooler. Shehas a contamer W|th 455 liters of
water, a container with 3.25 liters of water, and a container with 4.85 liters of water. Does She

“have enough water? Use estimation only to dec1de Explam why you are confident in your
estimate. :

Nia wants the total weight of her luggage to be no more then 50 kilograms. She has three
suitcases that weigh 15.8 kilograms, 17.42 kilograms, and 1628 kilograms. Is the total weight
within the limit? Use only estimation to dec1de Explain howyou know your estimate gives you
the correct answer. - '

(AT VPR W= ]

) Omar measures one machine part with length 4.392 centimeters and another part with length
6.82 centimeters, What is the dlfference in Iength? Use estimation to check your answer for
' reasonableness :

AT
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5.2 3.5 57,1
6+3 4+6 9+6

N
+
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&) What is a different common denominator you could use in problem 27 Describe how you would
- add the fractions using this different common denominator.ls the result equivalent to the sum
found in problem 2?

% I“Reﬁdy @ 2020 Curriculum Associates, LLC, Alfrights reserved.

23

Manatee Summer Math
incoming Sixth Grade Week 4



" Name:

The answers ave mixed up at the bottom of the page. Cmss out the ANSWErS
as y@u mmpﬂete the pmbﬂems

075413 o @02- 1438

43 159 —8.92

B 053325

05.53 — 99.28

82 74 — 659

{2 2564 — 248,38

1,280,01 — 1,272.77

Answers

625 : 5.26 - 6.62 - 8l 76
449 - 8 761 618 542

124 54 8.02 58 63

o e ~ Show your work on a separate piece
L4 Re@@y | of paper, attach the work. b



Name:

-4 243
3% ——4—16 —3%
o2 32 g — 92

What pattern did you notice in problems 1 through 3? Explain how this helped you subtract.

$i-Ready Show your work on a separdte piece
of paper, attach the work.
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Name:

Lin spent % hour on math homework and 1% hours on science homework. How many hours in

all did she spend on homework for both subjects?

Sandra rode her bike 9% miles on Monday and 6% miles on Tuesday. How many more miles did

she ride on Monday than on Tuesday?

How can you make a high estimate for the sum of two fractions in a word problem?

¥
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Name:

23 0.02

5 0.002 1 0.12

5 0.102

& 0.012

73 1.002

£ 90.04 -

8.008

6.335

j 700.06

#2020 Curriculum Assaciates, LLC. All rights resirvad.

What strategies did you use to help you read the decimals?Explain.
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24 Roger has 4 gallons of orange juice. He puts
the same amount of juice into each of

5 pitchers. How many gallons of orange
juice are in 1 pitcher? ‘

9 Greg made 27 ounces of potato salad to
serve to 10 guests at a picnic. If each serving
is the same size, how much potato salad will
each guest receive?

8 costumes for the school play. She plans to
use the same amount of ribbon for each

costume. How many yards of ribbon will she

use for each costume?

&

gi-Ready

Taylor has 5 yards of gold ribbon to decorate

Name:

&3 Marta hes 8 cubic feet of potting soil and

3 flower pots. She wants to put the same
amount of sail in each pot. How many cubic
feet of sil will she put in each flower pot?

Chandraspends 15 minutes doing 4 math
problems, She spends the same amount of
time on each problem. How many minutes
does she spend on each problem?

DeShawn is using 7 yards of wire fencing
to make a play area for his puppy. He wants
to cut the fencing into 6 pieces of equal
length. How long will each piece of
fencing be?

What is a division word problem that can be represented by —g—?
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